R:Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4924.dwg, TX-4924

plastpro

5200 W. CENTURY BLVD.
LOS ANGELES, CA 90045

DIRECT GLAZED FIBERGLASS DOORS
DOUBLES
w/ or w/out SIDELITES

INSWING / OUTSWING
"NON-IMPACT"

EVALUATED FOR USE IN THE STATE OF TEXAS ,

The Fiberglass Door system described herein complies with the 2018 International
Residential Code (IRC), Sections R301 & R609 and the 2018 International Building Code
(IBC), Sections 1404.13, 1609, 1709.5, 2403 and 2404 subject to the following conditions:

1. Anchors shall be as listed and spaced as shown in the details. Anchor embedment
to base material shall be beyond wall dressing or stucco.

2. When used in areas requiring wind-borne debris protection this product is required
to be protected with an impact resistant covering that complies with Section
R301.2.1.2 of the IRC and Section 1609.1.2 of the IBC.

3. Allowable design pressure requirements must be equal to or less than the design
pressure rating shown in the design pressure chart, sheet 1 of this drawing.

4. Conditions not covered by this drawing are subject to further engineering analysis.

TABLE OF CONTENTS

SHEET # | DESCRIPTION

Typical elevations, design pressures & general notes
Door & Sidelite panel details

Elevations

Horizontal & Vertical Cross Sections

Vertical Cross Sections

Frame anchoring & Hardware details

Bill of materials & components

NN B WIN|—

152" MAX. OVERALL FRAME WIDTH

98" OVERALL FRAME HEIGHT

74" MAX. FRAME WIDTH - FsmEméiH -

_

I

o

w

I

"'z" —_
= Es o) X o
Z do
2 £3

1ol

3

N

15— — 15

SRt gt
Soarint !
’33% e
s :(:) co
(T4 twie
St %‘; 1S
St
1\’{,('.,..- :-%.E r,
KN e
lh"‘ 3T
Nrpaande™

a0V

W
LN
P %)
Bo & [i4
E @ m]
5 Wz
wu G M 0]
P 2%, 2
_ .o
[7s) -
§E E o &
e <2(8m' z
E\I— FTn =
) Zo@Q @
a>v 4
580 &
& BR;E
o
3 2835
o Zm, O
o 3.5 &
& SQE
|
e moa g
s X °
0
: S
;E, . ]
3 (=
0
o

CERTIFICATE OF REGISTRATION # F—11852

n
=M
So
n3
o b
S °3
24 =0
o=
[@1%) L =W
xwn > <O
D_S - a
= [a1] 3
noe S| 3
SEE L L"'U)
b |n
am 0
Lo <SS
5 ¥l F9
o %)
= gy
—
o o
@ < o
o o
1>
Lo
L
(=)
o
O
&)
X
S |»
@ [z
(@]
©f |n
N
Q| @
x
o
=
(@)
a
>
Q
L
B [=
o[ <C
N[a)
un
_lo
z

DATE: 4,/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

2 OUTSWING
XX 74.0" x 98.0" ENDURA N/A +40.0 -40.0 +40.0 -40.0
- 149.0" x 98.0"| ENDURA N/A +30.0 -40.0 +35.0 -35.0
152.0" x 98.0"| ENDURA 2X +40.0 -40.0 +40.0 -40.0

DRAWING NO.:
TX—4924

SHEET 1 oF 7

“© 2019 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-:fl924.dwg, 23

3.65"

04" —— |=—
T
RERRRREEERRR
RRRRETE AR
N ]
—— LA I 2

A\
A\
/L

S

L
0

g

CAP (PVC)

STILE (LVL)

35.75" MAX. PANEL
WIDTH

24.813'D.L.O.

WIDTH
9

EXTERIOR

m HORIZONTAL CROSS SECTION

\2/

-

&

95.25" MAX. PANEL HEIGHT
78.814" D.L.O. HEIGHT

d

47.75"

@PLASTPRO DOOR PANEL
@jLASTPRO SIDELITE PANEL

FIBERGLASS SKIN: 0.075" MIN. THK.
FOAM CORE: XPS FOAM (1.3 PCF MIN. DENSITY)

'l 2"

54.25"

i
T

NS
Ly i
LIyl =
N PP r eyl
n Il n
7
GLASS BITE
INTERIOR —— 3/4" OVERALL GLASS THK.
= | | N ’;\\
!) / /
. \ ALUMINUM SPACER
EXTERIOR
T GLAING
TArE GLAIZING DETAIL
@)

ALTERNATE DEADBOLT SPACING

SEE DOOR LOCK
HARDWARE TABLE

! AR SPACE
1/8" TEMPERED GLASS

KWIKSET

KNOB:
DEADBOLT:

PRESSURE (PSF). -
NSWING | OUTSWING:
SIGNATURE SERIES 55" | +30/-40 | +35/-35
SIGNATURE SERIES (980) 12" | +40/-40 | +40/-40

TOPRAIL — |

(COMP.)

FIBERGLASS SKIN — .

—

1/8" TEMPERED GLASS

EXTERIOR

FOAM CORE — ||

BOTTOM RAIL — i

(COMP.)

INTERIOR

-I .2"

m VERTICAL CROSS SECTION

uj
L
e n
Eg o
[ 0 wuwn
B (0] w o
< n Z
0 ) = -
0w oM OI
.o Z Zy
W G
] S .2 a3k
6% 2 & <
z 9 22
2u <922 G5O
Cr T =
> 259 Ok
2>m Ny
n-~ < KE
Zo0mw g0
Y gR. zo
m ° n_g
o 235z W
e 520 95
a = .0 O
o 509 ¢ i
& moo <o
oe)
2 o
= 0nE
(] <0
£ 2
8 -
0
o
(V'
9 o
o =
23 o<
ol
g3 |35 2o
B T
&) = ]
%] L =
50: ) D:<
L | oF
0. <| ©
5 Lo - ()
8 ©
o &
[ <t
o o
D>
LYl
L
o
o
(&)
O
@
S o
@ |2
(@)
©l |»
sl 2
Q@
xx
2
ke
Q
Q.
=
%
L
[ |
N[
AN[=)
1)
—|O
Pz

oaTE: 4,/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

\2/

DRAWING NO.:
TX—4924

SHEET 2 OF 7

/

/

© 2019 R.W. BUILDING CONSULTANTS INC.



‘ON| SLNVLINSNOJQ 9aNIa1ing *m'sd 6102 @

Z2S8LL—d4 # NOILYMLSIOZY 40 31vOI4IL¥30 - prs SNOISIASY
SY3IINIONI TVYNOISSIH0¥d 40 aQ¥VO8 SvX3L J1vd |ON _
S o . ~
Bce el “ON SUO NELWE S41| 3000 d¥i/%8l 8loz oL 3ivadn| 0z/9z/5| L |<|vs|5|L| I -
L6L6'6S9°CLE "ON ud - N =E] N
sEEcT Ty BLIBA DEZ %G .o.m\Svg. ‘AT8W3SSY 80 1dvd ] o) x 2|9
"ONI ‘SINVLINSNOO 9NIaINg ﬂ < S | 3‘
4004 SSY1943814 Y& sl &2
€ZLYOL# 3'd SvxalL "ONI 08dLSYd A = N I G
‘A'd ‘PIWYDS "4 uopui :Ag peadodaug sjuswnoog :10N40¥d W m W m m %
¢
5
vl
2% irg
O % srZ
9 S .....O.v..n.l
T
Nﬂﬂﬂaaﬂ.‘}.ﬁ().)- -
N (
<TI0
N
zZ
Olo
< >
NP
w|O
N |
L
—
™
AN
s
o
T
< ><
Nk
L
—
L
- L) -
— g

£'€ 'BMpyzer-XL\sBuimelq - D\ivedwi-uoN paze|s 12341d £50L ¥A - IALNIAL - S\LNINVAY3Id 2u] ‘oidiseld\siualdD\y



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4924.dwg, 4.3

®

AR Y

\/
A

S .

0.15" C-SINK

= mP)

INTERIOR

SEENOTEN] .

I/
\\

/"1 HORIZONTAL CROSS SECTION

w Outswing shown (Inswing similar)

)

EXTERIOR

50

/ DRYWALL

Z EXT. SHEATHING .\

m HORIZONTAL CROSS SECTION

W Outswing shown (Inswing similar)

ol

0

m HORIZONTAL CROSS SECTION

W Outswing shown (Inswing similar)

SEENOTE 1 L : 66

11

/~5 "\ HORIZONTAL CROSS SECTION

w Outswing shown (Inswing similar)
Back-to-Back Jambs

@)

INTERIOR

EXTERIOR

(50

NOTES:

EXT. SHEATHING \ :

EXTERIOR

W

N\

INTERIOR

/~3"\ VERTICAL CROSS SECTION

\4/

Outswing shown (Inswing similar)

1. Spacing for item J: 6" from each end and 5 more equally
spaced along sidelite jamb (7 total).

2. Spacing foritem J @ head & sill: 6" from ends (2 total). —

\\

N

SEENOTE 1

PO
fo

|

EXT. SHEATHING \ |

DRYWALL

W

d }

11

/"6 "\ HORIZONTAL CROSS SECTION

w Outswing shown (Inswing similar)
Shown w/ 2X Reinforcement

EXTERIOR

D

SEE NOTE 2 @

INTERIOR

/ 4\ VERTICAL CROSS SECTION

w Outswing shown (Inswing similar)

L
L
< n
g8 0 G
_§=a= 3; Léun
[T . &
nu G M o7
. |
a Z Zw
™ M
C(f) n k- 3
6 < E 0 <
x z 9. Zz
T <922 5o
tE Fxnp 20
3 J 5@ Uk
a>r’) ulu_:
Zow &0
5 2 AT
@ ON- oW
o 4
O xz
el o L
z
g 5% ©5
a :'O'o Qu
0 = e B = ﬁfl_
o moo s<
o
m=
b L
c 0=
[ <
: 58
3 =
o]
[a}
<
O
x =W
GO =
) wo
= =
e )
2a |5 25
0 |
= s
) zl EQ
O] w ZU')
Sk |4 88
i I RS
El T |y &
O o o
8 &
el |%
o o
Dl
3

5/26/20 |UPDATE TO 2018 IBC/IRC CODE

1

NO)| DATE

REVISIONS

DATE: 4/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX—-4924

SHEET 4 ofF 7

© 2019 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4924.dwg, 5

WOOD/CONCRETE
SUBSTRATE (TYP.)

NOTE:

INTERIOR

\\

EXTERIOR

INTERIOR |

| EXTERIOR

m VERTICAL CROSS SECTION

W Inswing sill

" INTERIOR ) ‘ EXTERIOR
SEENOTE 1 %

MM AV

AL

/~3"\ VERTICAL CROSS SECTION

w Inswing sill

1. Spacing foritem J & L @ head & sill: 6" from each

end (2 total).

(2 \ VERTICAL CROSS SECTION

W Outswing sill

ALY
—5\'\:2 - k lll“‘q
S xTini Yy 0
e Tt D10,
SxoTigi Y,
f,"":' R
e .- 5‘-
A AN
t;u_)'. 1Z e d
(XN 10: X
Qb Qi LR
NXE i Z Lo
Q) % 4= £ QRS
Mriz i &F
Ty

\\
INTERIOR EXTERIOR
SEE NOTE 1 lz
P2
P ) WwOOD
D ) CONCRETE

/“ 4\ VERTICAL CROSS SECTION

\5_/ Inswing sill

i

e

-

+

23

ES a

. n

0 . )

.o )

L _|E

(7)) L~

cC < o

0 X o .

T S8

E‘I— Tun

2 o ©
>m
ow©
2]
N
x
0
m
(o]
o

BUILDING CONSULTANTS, INC.

Documents Prepared By

Phone No.:
TEXAS BOARD OF PROFESSIONAL ENGINEERS

CERTIFICATE OF REGISTRATION # F—11852

o %)
&) 2
Z8 %)

o=z
Qun |y S
a2 |3 =5
=3 s| Ow
%213 w =on
2h |9 ©
Om |« >
= L |

(&)

3 o

o &

x <

a. o

[7p]
Ll
Ly
o
)
o
O
x
S |»
o| 2
@)
2 @
o
Q| @
4
o
=
a
o
)
S
Y=
©
NE
wn
_lo
z

DATE: 4/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX-4924

SHEET 5 oF 7

/

© 2019 R.W. BUILDING CONSULTANTS INC.



R:\Clients\Plastpro, Inc PERMANENT\B - TDI\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4924.dwg, 6

i
[=a] s i
(E) 3 ‘c”_\'.\«;»;\\\?lu i‘:_ § .
o = A~ KT o o
¢ 05 Pl | Se2eiSE Ex 2 4s
I 1 ~ sINPS H*". 5 : o ;M w :
2 (TYP.) ——| 6 & (TP 2 (1vp) 6 25 Sad  |FwS 5! e B0 Bl
4 TYP) —~ if o)~ [ SR~ 4 e [ o I 1 gu% ¥ ‘g 428 oa
- — = = | o:. s E = o g
I ({1 I I I (] 1 LT I | f 1BV iz 0 z8g 53
SEE | Ef < 1 W G, 01 T 30 gg
SEE — - R © i S il b ” ga® oo
0 & DETALL 1 0 & i Wy xi%i 2 & owy £Q
DETAIL 1 bl = = Ny N - o x 2 LK
= = e - — - i 8 Z&, Ou
HEAD & JAMBS HEAD & JAMBS i l 2 348 g°
T = - ®  Roi Ik
(TYP. (TYP.) MULLION o o L§ o)
™ » [
—_ — —_ — — — 2 0E
BAC?:S;’*CK h [12) #8x 1" FH : X g
(TYP.) SELF-DRILLING 8
. . _ _ ) i3 SMS N
: | ,
— P —— —— s ommm L Qz [
il SIS ==
< Za xhy
Q CONCRETE GE Q CONCRETE GE T 23 s S
=~ SEE 0 WOOD - g = I~ - 0 WOOD SEE - - g = T Ta %é g;n' <Z:§
DETAL2 5\ rvp) << SILL (TYP.) DETAIL 2 ~Z ; _ , 0 S| 2R
/ s ) % q =X
& (i | l | L | il I ] ﬂn.\ ' g |3
DETAIL * f 2 <
OXXO ] 385
XX S3ai g >
HINGE JAMB ASTRAGAL W
FRAME ANCHOR’NG ENDURA ULTIMATE HURRICANE §
NOTE: FRAME CORNERS ATTACHED w/ O
(3) #10 X 2-1/2" FH WOOD SCREWS (TYP.) &£
Sl o
W g8 [2
‘ o (3
o o ol >
:’ | '; <] g 2 g 2 :
L e _,>@ =5 £ =
CONCRETE B[S i @ S
ASTRAGAL STRIKE PLATE N < \ =6 J6 \ 5
(1.19"x 3.25') P ) WOOD ¥ \ﬁ‘ D 4 2
HINGE DETAIL /,,@ 0 NE
= — TNSWING Al t— Ne
‘[ o ‘.) S~ [~ .y ’——$® n o \}\ i =
l } rm DATE: 4/29/19
" \ —
DETAIL 1 DETAIL 2 DETAIL 2 3/8" @ BOLTHOLE \ &4 @ SALE: N.T.S.
Astragal Strike Plate @ Head Astragal Strike Plate @ Sl Astragal Bolt Hole @ Sill HINGE DETAIL N DWG. BY:  MT
Inswing Threshold Outswing Threshold OUTSWING CHK. BY:  LFS
LATCH & DEADBOLT DETAILS DRAWING NO.:
HARDWARE DETAILS Asiragal X—4924
SHEET _6 OoF _7

© 2019 R.W. BUILDING CONSULTANTS INC.



R\Clients\Plastpro, Inc PERMANENT\B - TD\TDI - DR 1057 Direct Glazed Non-Impact\C - Drawings\TX-4924.dwg, 7

BILL OF MATERIALS
ITEM # DESCRIPTION MATERIAL

A | 2XFRAMING (G >=0.42) WOOD

C | 1/4"MAX. SHIM SPACE -

D |1/4"@ PFHELCO OR TW CONCRETE SCREW (1-3/4" MIN. EMBEDMENT) STEEL

G | 3/16" @ PFH TW CONCRETE SCREW (1-3/4" MIN. EMB.) STEEL

J [ #10X 2" PFH WOOD SCREW STEEL

L |#10X2-1/2"PFH WOOD SCREW (1.15" MIN. EMB.) STEEL

P | #10 PFH WOOD SCREW (1-1/2" MIN. EMB.) STEEL

1 | POLY FIBER JAMB COMP

2 | FINGER JOINT PINE JAMB WOOD

6 | DOOR SWEEP PVC

7 | WEATHERSTRIP FOAM

9 | #9 X 3/4" PFH WOOD SCREW STEEL

11 |[4'X4"HINGE STEEL

12| LATCH STRIKE PLATE STEEL

13 | DEADBOLT STRIKE PLATE STEEL

16 | #8X2-1/2"PFH WOOD SCREW STEEL
20 | INSWING THRESHOLD ALUM/COMP
21 | INSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
22 | OUTSWING THRESHOLD ALUM/COMP
23 | OUTSWING THRESHOLD w/ SIDELITE ADAPTER ALUM/COMP
33 | ASTRAGAL (ENDURA) ALUM
40 | DOOR PANEL :
50 | SIDELITE PANEL ;

CONCRETE ANCHOR NOTES:

. Concrete anchor locations at the corers may be adjusted to maintain the min.

—_—

. Concrete anchor table:

edge distance to mortar joints.

. Concrete anchor locations noted as "MAX. ON CENTER" must be adjusted fo

maintain the min. edge distance to mortar joints, additional concrete anchors
may be required to ensure the "MAX. ON CENTER" dimension are not exceeded.

ITW BUILDEX
TAPCON® /4"
ELCO i
ULTRACON 1/4

WOOD SCREW INSTALLATION NOTES:

. Maintain a minimum 5/8" edge distance, 1" end distance, & 1" o.c. spacing of

wood screws to prevent the splitting of wood.

—— 125" ‘<—

o u
. ST p W
4,56 ST 509 FER )

R M 3o @ o
oIS EL 9 uww
L1 PS4 S £¥* 5 Yo
/ H 2R .o = w
o T A |:| <Ku_¢ t&’(’ ‘,,-E'E %
b 244" | S %%, Al 37 53¢ at
f . 1 1?\/&-.,“ PZ et a>" Dex
ll*ggbr?t: %9)5 5o
Q}ELY FIBER JAMB Nndee™ 8O0y &Y
Plastpro PF Jamb 3 %f‘?i &y
8 368 & w
i m§m ég
) c
~—175" 5 2k
e : SO

o]

I — ’ o

L I A —
- 5/16" @ SLIDE BOLT
N (9" LONG w/ 1-1/4"

. THROW @ EACH END) & 9
| | S =R | EE
. 2.44" . S BOLT RETAINER = E5

(5-3/4" LONG) §§ 5: gg%_
2 \FINGER JOINT PINE JAMB 23} ENDURA ASTRAGAL TR ERE
ULTIMATE HURRICANE ém ol ©O
ol (P
5 ¥ ©
=)
= =
2.1" g g
SIDELITE of>-
L/* ADAPTER =|o

ru" -

20 INSWING THRESHOLD
Endura (Z-Series)

OUTSWING THRESHOLD

22

Endura (Z-Series)

21

4.56" !

INSWING THRESHOLD w/ SIDELITE ADAPTER

SIDELITE
ADAPTER

Endura (Z-Series)

L 1.5" =

4.56"

23 OUTSWING THRESHOLD w/ SIDELITE ADAPTER
Endura (Z-Series)

5/26/20 |UPDATE TO 2018 IBC/IRC CODE

NO.| DATE

1

REVISIONS

OATE: 4,/29/19

SCALE:  N.T.S.

DWG. BY: MT

CHK. BY: LFS

DRAWING NO.:
TX—4924

SHEET 7 oF 7

© 2019 R.W. BuiLDING CONSULTANTS INC.



